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QUESTION PAPER - 2019

Marks: 100 Time Allowed : 60 Minutes
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Find the number which when subtractad from 7344, the answer s a complato square ?
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A strael hawkor [s solling banana at Re. 60 por dozen. A man wants to buy 20 bananas.
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43: A car moving with a speed of 80 kmihour. What will be Its speed In matra per second (mla)
@ 1Emm (B}  3Bms  (e) 28mm (9 45ms (0} “66mA
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Tho radlus of & circlo is 14 ¢m ,What will be the clrcumference of this clrcle.
B7 cm () B8 om (e) B9 e (&) 80 em {a) 81 om
eEMTI 2
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The surface area of cylinder la determined by:
2er+l () 2o+l ) Zar(l+r) (d) 2xr'l (e) 2l
A RS e Fn I 124
164 {b) 411 &) 7133 (d) 164 (e) 20
Find the area of circle whose diametsr Is 44 em,
wie (b om0 18em® (@) 154e’ (o) 420 o
K 90" allun S bl e e Gy L o e 28
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A quadrilatoral having four congruent sides with no angle of 90° Is calle 4 ; g
Square &) Rhombus (e} Rectangle {d} Triangle @) GYeeuwnmeral
The angel Jibredl sald to the Hezrat Muhammad &, " Say
Alish O Akbar (b)  Blamiliah  (c) lgra {d) Al Hamd o) Amin
Which of the following book has besn by writton by Allama Muhammad Igbal?
Hayat- e- Javed (b} Joaved Nama (c) Khushoo  (d) Inkar (e} Ghobar o Khatlr
Bab-e- Khyber Is @ monumant at the antrance of the Khyber Pass in _____
Bannu (b) Mardan (c) Kohat (d] Nashem {0} Jumrud
The word " forest ™ Is an exampie ofa_____ noun.
plural () materisl  (c)  Masculine  (d) neler {8)  Feminina
Islam smarged as religlous movament In
622 AD (b) 522 AD (c) 422 AD (d) 722 AD {e) B2Z AD
Quald -p-Azam Is an example of &/ an ____ noun.
commen  (b) proper (¢} countoble (d) uncounfable (s)  materlal
What Is the examplo of a collective noun?
marched  [b) hill (€] army (d) treg ) houss
Most of Igbals work Isin
Urdu (b)  Assble  (c) English {9}  Punjabl (o)  Ppargan
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Find the meaning of * Humour ",
Blr i) Lir () gl (d)
Hurrah , wow. ah , olc are
interjoctions (b} conjunctions (¢}  arllcles  (d)
| hurt { Fill in the blank)
yowrnell  {b) itanlf () haranif {d)
Shazla gave Sadaf a dall . { Identify Indirect objoct)

Shazla (b} gave {e) dall (d)
Writea 3rd form of " ba /ls °.
was {b) waore (e) In (d)

Synonym of ' knowledgo " is
teaching ib) schoaol (e] undarstanding {d]

identily part of speach " technology ".
varb b) noun {e)  adjectlve  (d)

Lot's go for a walk ____ the park.
from (b) for () with (d)
Rashid jumps _____ the water,
In (&) inta (e} within (d)
lam ____ than my bookshalf.
tall (b} taller {e) taliing (d)
She s very clever girl. ( identify adverb)
sha (b) In (<} vary (d)

la @ word that modifles the meaning of an adjective, verb or other ady

advorb (b} conjunctlon (¢} Interjoction (d}
A place where we borrow books Is __
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